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1)

Calculate the result.

a) 266 − 60 b) 594 − 90 c) 651 − 20 d) 296 − 80 e) 485 − 50
f) 481 − 80 g) 889 − 60 h) 971 − 40 i) 168 − 60 j) 377 − 20

2)

Calculate the result.

a) 613 − 300 b) 639 − 300 c) 634 − 200 d) 316 − 100
e) 303 − 200 f) 683 − 500 g) 304 − 200 h) 891 − 400
i) 421 − 200 j) 711 − 500
3)

Calculate the result.

a) 2800 − 700 b) 6900 − 900 c) 5800 − 600 d) 1800 − 800
e) 1100 − 100 f) 6700 − 400 g) 8900 − 900 h) 4900 − 500
i) 1600 − 600 j) 4400 − 100
4)

Calculate the result.

a) 26800 − 800 b) 67800 − 800 c) 84900 − 800 d) 19900 − 900
e) 21700 − 300 f) 81600 − 600 g) 50800 − 400 h) 87800 − 400
i) 83600 − 400 j) 51700 − 400

Good Luck!
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